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B gsi 395,219 130 28 0.1 0.0 0.0 A101 —
3 523,036 1,681 975 1.1 0.6 0.3 AT06 5

| fi] 323,138 2,854 1,046 5.2 0.7 1.0 A1,808 2
Bl = 32,665 780 116 2.6 0.4 0.4 A\664 —
moLE I3 42,141 815 322 6.0 1.0 1.4 A493 1
3 397,944 4,449 1,485 5.1 0.7 1.0 A2,965 3

fig ZN 37,208 416 204 1.3 0.6 0.6 A212 5
e | K o 37,142 809 320 4.4 1.0 1.3 A\489 1
= i 26,440 156 90 0.7 0.4 0.3 65 2
AKlE B B 91,221 780 411 3.8 0.7 0.7 A369 1
i 192,012 2,160 1,025 3.0 0.7 0.8 A1,136 9

woF (S ¥ ) 9,758,175 107,896 56,775 5.2 1.3 1.1 A51,120 78




4—7—(5) EERESHILER (E—/LHE)

N b7 7 = 5
i # O R R OB [ \é - ME E e = — \J: S b ————— B E R | B VB SR
Al B Rlwemaes [ X wmek |5 K| ages | R s (IR BE B IRIOREVE [ 6 % |76 LEG |6 R R A
R IR IR ) 25 sk | LRI R] iRk

D % % % % % % % % % % E % %
B | e 1 bl A3.1 1.4 A\6.6 2.9 A1.9 0.8 10.9 8.1 6.7 7.7 1.69 3.8 0.6
H Fit 1.0 0.3 6.6 2.0 1.0 0.3 11.7 7.9 12.2 6.3 0.96 33.5 14.1
7= F AO0.1 0.0 A8.1 2.5 AO0.1 0.0 7.6 4.7 5.1 5.0 2.38 46.1 13.9
fil =4 b 3.5 4.5 4.8 6.2 6.1 7.8 30.5 4.7 3.7 2.9 0.57 8.2 1.1
K s} Al4 1.8 AN2.2 2.7 A0.4 0.5 3.1 8.6 4.1 0.9 3.36 2.0 0.2
5 1L 2 X X X X X X X X X X X X X
& = A3.5 A1.8 A34.2 A18.0 A2.5 A1.3 7.8 7.4 7.5 9.3 1.39 50.9 5.0
B X X X X X X X X X X X X X
/S 5 AT.0 Al.1 AYe AYe.x A3.9 A0.6 7.1 6.2 4.2 9.7 1.81 59.1 11.6
i i N 0.2 1.9 1.2 14.2 0.1 1.0 11.2 4.7 4.3 6.6 1.95 54.9 2.6
e | #E 5 A2.3 A0.4 A9.4 ALT A3.0 A0.5 16.7 A0.9 0.9 A12.7 0.75 10.8 0.4
oo ES X X X X X X X X X X X X X
f& 0 % AL.0 A0.7 A1.6 Al.l Al.2 A0.8 18.5 7.5 8.5 8.0 0.79 28.1 4.3
o s gy Al.4 A1.0 ANT.7 Ab.4 A0.5 A0.3 8.5 5.0 5.0 4.6 2.94 21.5 8.2
F X X X X X X X X X X X X X
¥ % - x = x = R = R = R = R =
| W 5 3.3 4.1 25.9 32.4 1.2 1.5 7.3 11.1 9.1 23.8 2.72 6.2 1.2
Wl - - - - - - - - - - - - -
s | 3 - - - - - - - - - - - - -
i 3.3 4.1 25.9 32.4 1.2 1.5 7.3 11.1 9.1 23.8 2.72 6.2 1.2

=1 all} X X X X X X X X X X X
® | 5 il - - - - - - - - - - - - -
R ) H X X X X X X X X X X X X X
E 6.8 0.1 26.7 0.3 9.6 0.1 16.0 5.4 11.4 4.2 0.71 34.0 8.3




sz B - — - — - — - — - — - — -

# e [¥] X X X X X X X X X X X X X
I gl 5.0 4.5 65.1 59.1 2.5 2.3 9.2 9.0 2.9 2.5 1.99 12.1 6.1
B = H X X X X X X X X X X X X X
7 4.5 4.5 47.9 47.8 2.3 2.3 9.3 9.0 3.0 2.5 1.94 12.1 6.0

i3 = A1.3 NO0.1 A4.T N0.5 N0.7 NO0.1 19.2 5.4 5.0 10.4 1.73 27.2 13.8
pry #B 2.3 0.4 11.0 1.8 4.1 0.7 24.2 6.3 6.2 6.3 0.56 18.3 2.7

K 53 0.9 N0.6 A4.3 N2.7 Al.1 N0.7 14.8 5.7 6.0 6.2 0.79 21.9 5.0
gz JiE AN0.5 N0.4 A3.8 A3.0 A0.4 A0.3 21.3 6.5 6.6 5.1 1.37 22.7 9.5

| = B N2.6 N2.2 Al4.1 A11.8 N2.8 N2.4 16.9 3.9 3.3 2.8 0.91 20.1 4.2
fn i 1] 1.7 6.4 Ak A 0.8 3.0 9.7 6.7 5.9 6.4 2.11 34.1 12.8

g 0.1 1.1 0.6 7.0 0.1 0.8 16.9 6.2 5.7 7.6 1.42 27.2 11.0

)= Jijd — — — — — — — — - — — — —

" = R Al.1 N0.7 A12.3 NT.4 N0.7 N0.4 16.1 6.0 8.4 8.3 1.45 40.0 17.6
[if] N} X X X X X X X X X X
UN = - — - — - — — — -
B . _ _ _ _ _ _ _ _ _ _ _ _ _
= X X X X X X X X X X X X X

il = A14.0 A5.7T|  A135.3 AB54.7 AT.3 N2.9 8.0 4.4 5.8 3.4 1.92 39.2 33.0

= =& | X X X X X X X X X X X X X
= 53 A2.9 A3.3 A21.0 AN23.2 Al.4 AL.6 6.4 4.4 5.5 5.9 2.10 31.2 23.5
N = H X X X X X X X X X X X X X
7 A4.2 A2.4 A32.0 A18.5 A2.1 A1.2 6.8 4.7 5.8 5.8 2.02 31.8 23.2

R fi] 0.6 0.1 3.5 0.6 0.2 0.0 9.1 5.6 4.4 4.7 3.32 6.7 3.6
W = X X X X X X X X X X X X X
TS G - - - - — - — - — - - - -
H X X X X X X X X X X X X X

Ae iy X X X X X X X X X X X X X
BE | X 55 X X X X X X X X X X X X X
= = — — — — — — — — — — — — —
AXlE B OB — — — — — — — — — — — — —
i 0.3 N2 Adesde | Aok 0.2 A1.8 9.5 4.3 5.5 4.7 1.45 24.0 9.5

4 ooy 1.1 1.5 4.6 6.4 0.5 0.7 9.2 6.5 6.1 7.1 2.15 13.0 4.6




4 —17—(6)

FEREOPLLE (E— L)

J5 \ i 7 7 &
=) s 3
g | IR e | g g B s (e S B s
KL % % % % % %
L [ - | 12.8 7.6 0.4 0.4 0.7 -
H Pz 10.6 4.9 1.3 0.4 1.0 0.0
Fe) + 7.6 4.0 0.1 0.2 0.2 —
i K 24.5 11.8 0.9 2.5 0.5 —
K H 3.5 1.7 0.2 0.1 0.3 -
5 1] 2 X X X X X X
& B 10.3 5.4 1.1 0.2 0.4
B X X X X X X
K K 10.9 6.9 0.2 0.4 0.2 0.6
B s PN 11.1 6.8 0.3 0.1 0.7 —
w | A %5 19.8 11.8 1.0 0.7 0.5
B ES X X X X X
5| W 19.7 10.5 0.6 0.6 0.8
w | K T 9.0 4.9 0.3 0.6 0.2
2 X X X X X
I 3 — — - - — -
b Iy 6.1 2.7 0.0 0.2 0.1 0.1
e & — — — - — —
5| A - — — — — -
i 6.1 2.7 0.0 0.2 0.1 0.1
=1 1] X X X X X
| g )i - ~ - - - -
& Fid X X X X X %
i 6.4 3.4 0.2 0.2 0.1 6.2




I i - - - - - - - - - - - -
&2 i [+] X X X X X X X X X X X X
L H 6.7 4.0 0.4 0.2 0.2 0.0 0.6 0.5 0.2 0.8 0.0 0.6
= = ®H X X X X X X X X X X X X
i 6.9 4.2 0.4 0.2 0.2 0.0 0.7 0.8 0.2 0.8 0.0 0.6
iad = 20.0 5.6 0.9 0.2 0.7 0.8 2.5 1.9 0.1 1.2 0.0 0.7
I B 20.0 5.7 0.4 0.6 0.8 1.3 4.6 0.9 0.2 4.4 0.1 3.4
S X 3 15.9 9.3 0.9 1.3 0.7 0.1 4.2 3.2 0.0 2.8 0.5 1.6
I Ji 21.7 8.9 0.7 1.0 1.4 0.4 5.9 1.4 0.3 1.3 0.0 1.1
73 = B 19.8 10.1 0.4 0.3 5.1 0.2 0.8 3.9 0.1 3.4 0.1 1.5
fn B i 8.9 4.5 0.2 0.2 0.3 0.2 2.5 4.8 1.0 2.6 1.5 0.6
7 16.8 6.3 0.6 0.5 0.9 0.5 3.4 2.8 0.4 2.0 0.5 1.0
= He - - - - - — - - - - - -
I = Uit 16.9 8.5 0.5 1.5 0.6 0.7 4.1 1.7 0.0 1.4 0.1 1.1
[if] 1] X X X X X X X X

I 5 - - -
B . _ _ _ _ _ _ _ _ _ _ _ _
2 X X X X X X X X X X X X
8 = 15.3 11.3 0.4 0.6 0.3 0.1 3.7 4.6 0.1 0.3 0.1 0.2
=l F I X X X X X X X X X X X X
g % 7.8 4.4 0.3 0.3 0.4 0.0 2.6 2.4 0.4 2.5 0.2 0.9
L/ = 50 X X X X X X X X X X X X
i 8.8 5.2 0.4 0.3 0.4 0.0 2.9 3.8 0.4 2.9 0.2 0.8
B & [if] 9.0 2.3 0.3 0.6 0.1 0.0 4.5 0.3 0.0 0.5 0.0 0.1
g = X X X X X X X X X X X X
mo|LE fF - - - - - - - - - - - -
H X X X X X X X X X X X X
fE ZN X X X X X X X X X X X X
BB | X i X X X X X X X X X X X X
= fF - - - - - - — - — — — —
ENE o) = — - - - — — — - — — — -
7 9.3 5.2 0.7 0.3 0.4 0.1 2.7 1.5 0.7 3.6 0.8 2.3
= FoY 8.7 3.7 0.3 0.4 0.3 0.1 2.0 1.4 0.2 1.2 0.2 0.5




4 —7—(7) FERESHLE (E—/LH)
= . ; _ - , BB -NEERLANYTY
NI T80 BT 16 U e | R R g | g e | (54 2 | HE SR R AT {40
” : g 56 ke | E AT T
L [=] H % % % % % % % TH TH TH
#e |t i B 2.77 14.4 81.4 71.0 140.4 105.1 108.9 15.1 47.9 45,612 A\849 4,673
H e 2.89 10.1 439.5 87.4 142.0 86.5 557.5 70.7 15.2 66,223 694 6,785
e F 3.48 29.5 1,874.5 151.0 89.2 21.7 5,867.4 79.9 1.7 64,858 YANSY 3,787
fil = i 1.28 179.8 76.1 62.6 708.7 397.1 37.9 16.5 72.5 25,044 1,515 6,051
% H 4.38 1.4 35.5 25.3 993.9 773.1 52.8 27.0 65.4 230,626 AN992 6,678
& | w A X X X X X X X X X X X X
o = 3.10 15.9 538.0 211.8 123.6 73.7 878.0 30.6 10.2 37,170 N933 2,486
2 X X X X X X X X X X X X
/3 Ik 3.04 16.9 VA Agh ¢ 158.8 97.2 70.3 VA Agh ¢ 66.6 A1.3 42,601 A\1,645 3,281
B i N 4.74 12.1 435.2 249.0 56.4 40.2 640.5 61.0 13.5 38,731 32 3,741
B B 5 1.45 52.6 199.4 77.3 153.0 77.2 316.2 53.8 24.0 35,306 1,069 5,550
2 x X X X X X X X X X X X X
B Fen 5 1.51 43.2 80.4 71.0 165.6 101.3 68.6 33.4 59.3 21,248 N262 2,762
37 & gy 5.08 7.8 234.8 133.2 85.9 59.5 462.1 43.8 17.8 91,488 AN428 5,598
H X X X X X X X X X X X X
T 1 - - - - — - - - — - - -
| K w 3.07 4.9 91.6 50.0 121.0 107.3 689.5 12.5 12.7 241,306 2,918 11,805
i &= I - - - - — - - - — - - -
| L AL — — — — — — — — — — — —
7 3.07 4.9 91.6 50.0 121.0 107.3 689.5 12.5 12.7 241,306 2,918 11,805
N =1 l} X X X X X X X X X X
S ) - - - - - - - - - - - -
& I X X X X X X X X X X X X
7 0.95 316.7 101.6 57.5 161.3 38.3 295.5 59.7 25.3 62,684 5,994 4,623




I i - - - - - - - - - - - -
&2 i [+] X X X X X X X X X X X X
| &= ysll 3.14 12.5 474.1 87.9 108.0 64.9 1,206.1 64.8 7.7 105,613 2,643 8,098
= = ®H X X X X X X X X X X X X
i 3.10 13.0 398.5 88.4 108.0 65.3 970.1 63.9 9.3 93,267 2,157 7,344

i3 = 3.85 22.5 196.3 100.6 122.9 65.6 268.7 43.0 27.9 49,382 A370 3,971
Iy B 1.03 145.0 213.6 66.9 192.4 73.6 374.8 65.6 21.1 29,447 1,213 3,422
S X i 2.97 34.8 348.0 115.7 73.7 50.3 375.2 57.0 21.0 26,783 N307 3,467
I Ji 2.49 29.0 318.9 69.4 164.8 65.1 624.9 69.2 13.8 23,519 AN90 3,033
73 = B 1.52 30.1 221.6 62.2 172.2 52.9 448.0 64.0 18.2 20,861 A594 3,124
moo#; (i 3.43 22.3 A Yo 221.2 79.3 50.3 A Yo 77.4 N3.7 69,925 570 6,212

7 2.69 32.3 299.4 89.5 123.3 59.4 540.1 62.7 15.6 38,042 25 3,855

= He - - - - - — — - - - - -
I = R 2.27 51.7 405.8 61.6 154.1 63.3 1,030.3 77.9 8.8 25,347 A190 2,978
[if] N X X X X X X X X X X X

S 5 - - - - - - - - - - -
B . _ _ _ _ _ _ _ _ _ _ _ _
2 X X X X X X X X X X X X

s = 2.90 4.6 321.7 88.7 145.8 91.7 865.1 42.1 10.4 42,386 3,087 4,160
=& I X X X X X X X X X X X X
B % 3.67 13.8 303.3 116.1 90.3 45.4 613.5 65.1 14.0 67,998 AN953 3,230
L/ = 50 X X X X X X X X X X X X
i 3.56 14.1 331.7 121.8 89.2 45.6 669.4 61.9 13.0 59,959 N1,237 3,575

_ & [if] 4.39 10.6 141.1 127.6 93.5 56.6 476.7 10.1 17.3 168,839 310 5,700
g = X X X X X X X X X X X X
mo L& fF - - - - - — - - - - - -
H X X X X X X X X X X X X

fE ZN X X X X X X X X X X X X

B | X i X X X X X X X X X X X X
= fF - - - - - — - — — — — —
ENE o) = — - - - — - — — — — — -
i 3.09 35.8 VAN A gk 120.3 84.0 27.1 VAN A gk 88.6 N17.2 40,737 81 2,879

= FY 3.22 16.8 142.6 81.9 118.3 80.6 330.1 34.6 23.3 96,232 475 5,587




4—17—(8) FERESHHE (B—LH)
& ( \ oA B ot | mg st bomoxr | WY S — b E D
warwm | e bom | F FI F B s Bl | X B |Gy < =P (38 Y < — 1)
Al St L R S Nl I T R by AN N T T
L B EPiE EPiL! % % % EPiL! *
| e W 6,568 1 — 1.7 - - Al —
H R 2,053 0 0 0.0 0.0 0.0 A0 —
Fe) = 1,816 1 — 0.1 — — Al —
il ] b 3,306 0 — 0.0 — — A0 —
K H 21,679 11 - 0.1 — — All —
& 1] i X X X X X X X X
] = 855 9 — 1.6 — — A9 —
Z X X X X X X X X
* e 1,321 27 8 2.2 0.6 0.6 A19 —
B PN 891 0 — 0.0 — — A0 —
| B 5 1,448 22 - 2.0 - - A22 -
By ES X X X X X X X X
5 ) 4,802 25 19 0.6 0.8 5 A5 2
wm | & g 22,232 119 175 1.0 1.8 57 1
F X X X X X X X
T £ - - - - - -
8 o 82,527 58 44 0.3 0.5 0.2 Al4 3
e & - - - — - — — —
) [ 5 -~ -~ -~ -~ -~ — — —
i 82,527 58 44 0.3 0.5 0.2 Al4 3
=1 1L X X X X X X X X
S Ji - - - - ~ ~ -
& H X X X X X X X X
i 3,949 13 244 0.5 11.0 6.2 231 1




4 53 B — - — — — - — —
e [¥] X X X X X X X X
i gsi 8,766 19 0 0.3 0.0 0.0 Al18 —
B = ®H X X X X X X X X
G 8,860 19 0 0.3 0.0 0.0 A19 —

i3 = 6,716 8 1 0.3 0.0 0.1 A8 2

" #h 1,502 2 1 0.4 0.2 0.1 Al —

K % 53 536 0 2 1.8 0.5 0.5 2 1
i JeE 5,127 13 1 1.2 0.0 0.0 A12 1

w | 7® B 939 1 1 0.1 0.1 0.1 () -
mooom W 6,713 68 98 1.9 1.8 1.9 30 1

g 21,532 93 104 1.1 0.7 0.6 11 5

= Jijd — - — — — — — —

= B R 1,495 1 1 0.2 0.1 0.1 0 1
[it] 1] X X X X X X X X

I B — — - -

B (L H — - — — - — — —
B X X X X X X X X

i = 466 0 1 0.1 0.1 0.1 0 1

= & | X X X X X X X X
g % 6,528 27 11 1.4 0.2 0.2 A16 1
[/ = Al X X X X X X X X
G 7,435 28 12 1.1 0.2 0.2 A16 2

& ] 64,328 14 5 0.1 0.0 0.0 A10 2

i 1 = X X X X X X X X
il & By — — — — — — — —
F X X X X X X X X

fE PN X X X X X X X X

el K i X X X X X X X X
=S = — - — — — - — —
Al E R OB - — — — - — — —
it 1,141 8 9 1.1 1.1 0.8 1 1

woF (S ¥ ) 264,349 473 655 0.4 0.8 0.3 181 19




